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const int MAXN=5e4+5;
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int blk sz,alMAXN]|,col[MAXN];
struct query
int 1,r,idx;
bool operator < (const query &b)const
1/blk sz!=b.l/blk sz 1<b.1;
r<b.r;

g/ MAXN;
LL ansl1/MAXN|,ans2 MAXN|, cur;
LL gcd(LL a,LL b
b
LL t=b;
b=a%b;
a=t;

a,

void add(int v
cur+=col|v];
col|v]++;

void del(int v
col[v]--;
cur-=col|v];

int main

int n=read _int(),m=read int();

blk sz=1.0*n/sqrt(m)+1;

_rep(i,1,n

alil=read int();

_for(i,0,m

q/il.l=read int(),qlil.r=read int(),qli].idx=1;

sort(qg,qg+m);

int lef=1,rig=0;

_for(i,0,m
gli].l==qli].r
ansl[qgli].idx ;
ans2[qli].idx ;

14

lef>qlil.l)add(al--lef]);
rig<qlil.r)add(al++rig|);
lef<qlil.l)del(allef++]);
rig=qlil.r)del(alrig--1);

ansliqgli].idx|/=cur;
ans2(qli].idx|=1LL*(q[i].r-qli].l+1)*(qli]l.r-qli].1)/2;

_for(i,0,m
ansl|i|==
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ans2[il=1;
LL g=gcd(anslii|,ans2[i!);
ansl(i|/=g;

ans2[il/=g;

printf("%slld/%slld\n",ansl[i],ans2[1i]);
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struct query
int 1,r,idx;
bool operator < (const query &b)const
1/blk sz!=b.l/blk sz 1<b.1;
1/blk sz)&1)7?(r<b.r):(r=>b.r);
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const int MAXN=1.5e5,MAXC=1e6+5;
int blk sz,cc/MAXN|,lLc/MAXN|,col[MAXC!,cur_ans;
struct query
int 1,r,t,1idx;
bool operator < (const query &b)const
1/blk sz!=b.l/blk sz 1<b.1;
r/blk sz!=b.r/blk sz 1/blk sz)&1)?(r<b.r):(r=b.r);
r/blk sz)&1)7(t<b.t):(t>b.t);

g/ MAXN] ;
struct opt
int pos,pre,now;
p/ MAXN] ;
int ans|[MAXN|,qgn,pn,lef=1,rig=0;
void add(int ¢
lcollcl)cur _ans++;
collcl++;

void del(int c¢
colicl--;
lcollc|)cur _ans--;

void update(opt &p
lef<=p.pos&&p.pos<=rig
del(p.pre);
add(p.now) ;
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cclp.pos]=p.now;
swap(p.pre,p.now) ;

int main

int n=read _int(),m=read int();
blk sz=pow(n,2.0/3);
_rep(i,1,n
cclil=lclil=read int();
~_for(i,0,m
char c=get char();

c=="'Q’

gn++;

gign!.l=read int(),qlgn|.r=read int(),qlgn!.t=pn,qlgn]|.idx=qn;

pn++;
int pos=read int(),v=read int();
plpn!.pos=pos,plpnl|.pre=lclpos|,plpn!.now=(lclposi/=v);

sort(q+l,qg+qn+l);

int tim=0;

_rep(i,1,qgn
lef>qli].l)add(cc|--lef]);
rig<qlil.r)add(ccl++rig]|);
lef<qlil.l)del(cc|lef++]);
rig=qlil.r)del(cclrig--1);
tim<ql[i]|.t)update(p[++tim]);
tim>ql[i]|.t)update(p[tim--]);

ans/qli].idx|=cur _ans;
_rep(i,1,qgn

enter(ans|i]);
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const int MAXN=1e5+5,MAXC=2e5+5,Inf=1e9;

int blk sz,alMAXN|,lst a/MAXN!,cnt[MAXC|,cl[MAXN]|,crMAXN|,s MAXN/;
int ans[MAXN!,qn,pn,lef=1,rig=0;

struct query
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int 1,r,k,t,idx;
bool operator < (const query &b)const
1/blk sz!=b.l/blk sz 1<b.1;
r/blk sz!=b.r/blk sz 1/blk sz)&1)?(r<b.r):(r=b.r);
r/blk sz)&1)?(t<b.t):(t>b.t);

g/ MAXN|;
struct opt
int pos,cur,next;
p MAXN]|;
void add(int v
int c=cntlv!;
slcricll++;
clic+l]=cric];
lcr|c+ cric+l]l=cl[c+l];
cricl--;
clicl>cr[c]l)clicl=cr[c]=0;
cntiv ++;

void del(int v
int c=cntlv];

siclicl!--;
cric-1]=clic];
Iclic- clic-1]=cric-11];
cllicl++;
clicl>cric])clicl=crlcl=0;
cntiv]--;

void update(opt &p
lef<=p.pos&&p.pos<=rig
del(p.cur);
add(p.next);

alp.pos|=p.next;
swap(p.cur,p.next);

int main

int n=read _int(),m=read int();
blk sz=pow(n,2.0/3)+1;

_rep(i,1,n
alll=lst alil=read int();
_for(i,0,m
int op=read int();
op==
qn++;

int l=read int(),r=read int(),k=read int();
glgn!.l=1,qlqn!.r=r,qlgn].k=k,qlgn!.t=pn,qlgn].idx=qn;

pn++;
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int pos=read int(),v=read int();
plpn!.pos=pos,plpn|.cur=lst alpos|,plpn!.next=(1lst alpos/=v);

sort(g+l,g+qn+1);

cl =1,cr[0]=n;
_rep(i,1l,n)cllil=criil=0;
int tim=0;

_rep(i,1,qgn
lef>qlil.l)add(al--1lef]);
rig<ql/il.r)add(al++rig!);
lef<qlil.l)del(allef++]);
rig=qlil.r)del(alrig--1);
tim<qli].t)update(p[++tim]);

tim>q/i].t)update(p[tim--]);
int cur=Inf,lpos=cr(0/+1,rpos=cr ;
lpos<=n
rpos<n&&rpos-1lpos+1<qli!.k)rpos=cr|s|/rpos+ ;
rpos-1lpos+1>=qlil.k)cur=min(cur,s|[rpos!/-s/lpos!);
lpos=cr|s|lpos| |+1;

ans|qli].idx/=cur==Inf?-1:cur;

_rep(i,1,qgn
enter(ans|i]);
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